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[Base : ™K, n= 1,000, Et¥| : &, %]

/=Rl
e | e
oums e e g o=l
¢ojlelo]
sicpE X[Qlo] fXIE 710l =8 o 7| E}
WS FHeol  eAsm B AT
B - =¥
[=in]
Ao
HH| (1,000) 61.0 17.1 125 6.7 19 0.8
P od (505) 65.1 14.5 115 6.5 14 1.0
c= 25| (495) 56.8 19.8 135 6.9 24 0.6
20CH (144) 56.3 12.5 22.2 49 35 0.7
30CH (153) 57.5 13.7 17.0 85 26 0.7
Ay 40CH (188) 56.4 16.5 14.4 106 2.1 0.0
50CH (206) 69.9 14.6 7.8 49 1.0 19
60A| Of& (309) 61.8 230 7.8 55 13 0.6
MZ (189) 63.5 17.5 106 5.3 2.6 0.5
4t (66) 57.6 12.1 15.2 106 45 0.0
= (46) 65.2 109 15.2 8.7 0.0 0.0
lbs) (59) 64.4 119 13.6 10.2 0.0 0.0
a4 27 63.0 74 185 11.1 0.0 0.0
Cf (28) 64.3 14.3 7.1 7.1 36 36
=4t (20) 30.0 300 30.0 5.0 5.0 0.0
= NES 8 50.0 12.5 25.0 125 0.0 0.0
x| S 47| (260) 61.2 20.8 11.9 50 04 0.8
Ze (30) 46.7 20.0 16.7 10.0 33 33
=5 (31) 58.1 32 16.1 129 6.5 32
se 42) 57.1 333 7.1 24 0.0 0.0
2 (34) 70.6 11.8 11.8 5.9 0.0 0.0
el (34) 73.5 14.7 8.8 0.0 29 0.0
45 (50) 60.0 20.0 2.0 120 40 2.0
44 (63) 63.5 14.3 15.9 32 16 16
NIES (13) 385 154 231 154 7.7 0.0
nsstu £ | (208) 127 32 2.8 17 0.2 0.2
sray | D2l EY | (105) 7.0 20 1.0 0.2 03 0.0
T st 29| (597) 360 102 72 46 12 05
CHeH o4t (90) 53 17 15 0.2 0.2 0.1
Y AR 22[E]] (388) 237 6.7 5.0 24 0.6 0.4
ju et et (66) 42 0.8 0.7 0.9 0.0 0.0
MAZ|= 222 (100) 55 2.1 13 0.7 04 0.0
X (98) 5.6 2.3 1.1 0.5 0.2 0.1
xlo| S7duE (40) 2.0 0.8 0.7 0.3 0.1 0.1
TE R EIY0 (43) 24 0.8 05 04 0.2 0.0
CHsh(R)d (35) 14 0.9 0.8 0.2 0.2 0.0
MYUT& (158) 11.8 1.8 14 0.6 0.1 0.1
F =] (33) 1.8 0.1 0.7 0.5 0.1 0.1
7|Et (39) 26 0.8 03 0.2 0.0 0.0
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NE
ot
O
2
Fe

[Base : ™K, n= 1,000, Et¥| : &, %]

=01 it

o vk~ Vi ofE- e

M VRO peiop epgopr paoge 190 AREE

TS &

U AR
HA| (1,000) 16.8 344 209 12.2 7.7 80
P od (505) 17.8 350 19.6 1.7 6.9 8.9
c= 25| (495) 15.8 337 222 127 85 7.1
20CH (144) 236 333 139 104 9.0 97
30CH (153) 255 386 183 7.2 2.0 85
Ay 40CH (188) 15.4 356 255 106 6.4 6.4
50CH (206) 15.5 364 223 14.1 53 6.3
60A| Of& (309) 11.0 30.7 21.7 15.2 12.3 9.1
MZ (189) 127 323 23.8 127 10.6 79
4t (66) 15.2 318 227 9.1 6.1 15.2
= (46) 13.0 435 174 109 43 109
lbs) (59) 30.5 288 16.9 10.2 6.8 6.8
a4 27 111 29.6 333 14.8 11.1 0.0
o (28) 14.3 50.0 143 179 0.0 36
=4t (20) 20.0 250 25.0 20.0 10.0 0.0
= NES 8 12.5 50.0 25.0 0.0 0.0 125
x| S 47| (260) 18.5 312 204 127 8.8 8.5
Ze (30) 233 333 20.0 6.7 6.7 10.0
== (31) 32 613 9.7 6.5 16.1 32
se 42) 26.2 333 214 11.9 24 48
HE (34) 11.8 294 235 235 8.8 2.9
el (34) 5.9 61.8 14.7 59 0.0 11.8
45 (50) 120 24.0 280 14.0 14.0 8.0
44 (63) 20.6 38.1 175 127 16 95
NIES (13) 46.2 231 15.4 7.7 0.0 7.7
nsstu £ | (208) 3.8 75 35 18 18 24
sray | D2l EY | (105) 26 36 2.1 0.8 0.5 0.9
T st 29| (597) 93 205 132 83 43 41
CHehe ol (90) 1.1 2.8 2.1 13 1.1 06
Y AR 22[E]] (388) 6.8 13.1 9.1 5.2 2.1 2.5
ju et et (66) 0.9 1.8 1.7 14 04 04
MAZ|= 222 (100) 2.1 4.1 15 0.5 12 0.6
X (98) 1.5 35 2.2 0.8 0.8 1.0
xlo| S7duE (40) 0.2 1.7 0.5 0.7 0.6 03
TE R EIY0 (43) 0.8 12 14 0.2 04 03
CHsh(R)d (35) 0.8 13 03 0.3 0.5 0.3
MYUT& (158) 18 5.8 3.1 2.2 1.0 1.9
F =H| (33) 0.8 1.2 03 0.3 0.3 04
7|Et (39) 1.1 0.7 0.8 0.6 04 03
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HE2
o AH
a

ARl =ZaE #

HE7joj7|
Hi= 7{&
L|x| == 2= glofy

2x20|

= § MEsiA

A (80) 46.3 413 188 5.0 88
Ad o (45) 51.1 35.6 20.0 44 6.7
°= 2] (35) 400 486 171 57 114
20CH (14) 28.6 429 7.1 7.1 214
30CH (13) 385 53.8 23.1 77 15.4
Ay 40Cy (12) 833 25.0 16.7 83 0.0
50CH (13) 53.8 30.8 23.1 0.0 7.7
60A Of4 (28) 39.3 464 214 36 36
M2 (15) 46.7 46.7 6.7 6.7 133
SA4 (10) 40.0 20.0 50.0 10.0 0.0
= (5) 0.0 60.0 20.0 0.0 20.0
k| 4) 75.0 50.0 0.0 0.0 0.0
CH 1) 100.0 0.0 0.0 0.0 0.0
NES (1) 0.0 0.0 100.0 0.0 100.0
e 47| (22) 455 409 136 45 9.1
,q?g A (3) 66.7 0.0 0.0 0.0 333
5 (1) 0.0 100.0 100.0 0.0 0.0
s @) 50.0 50.0 50.0 0.0 0.0
HE (1) 0.0 100.0 0.0 100.0 0.0
2=t 4) 25.0 75.0 0.0 0.0 0.0
4= 4 75.0 25.0 25.0 0.0 0.0
ag (6) 833 50.0 0.0 0.0 0.0
X (1) 0.0 0.0 100.0 0.0 0.0
nsstu £ | (24 12.5 12.5 3.8 25 3.8
s1oy | D= £ ) 6.3 5.0 3.8 0.0 1.3
S getm 29| @) 25.0 188 113 25 38
CHeH ol (6) 2.5 5.0 0.0 0.0 0.0
GY-ALR-22|E]] (25) 12.5 12.5 6.3 0.0 5.0
AN EE ) 2.5 2.5 0.0 0.0 0.0
MAL7 | L2 E () 50 5.0 2.5 0.0 0.0
PN (10) 13 5.0 3.8 13 1.3
x| Of FCRs OITEN (3) 13 13 13 0.0 1.3
AeEgel (3) 0.0 38 13 13 0.0
CHSh(R) ?3) 13 1.3 0.0 0.0 1.3
N pu e (19) 16.3 75 38 25 0.0
FEZE=H| ) 38 13 0.0 0.0 0.0
7|Ef (3) 2.5 13 0.0 0.0 0.0
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NE
1
O
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Fe

[H6] HMME HE XSH AS off

[Base : GMAZ 2Ol A0f &KL n= 920, T2 : F, %]

AMEST
(AHE2JAL

E15=))

13 ¥ 2~3%3 =F

Azl Y ALS

ME A&

A (920) 213 149 196 189 6.7 186

J ofd (460) 222 143 15.9 16.7 59 25.0
= =2 (460) 204 154 233 21.1 7.6 12.2
20CH (130) 223 16.2 16.2 154 46 254

30CH (140) 20.7 86 25.7 15.7 86 20.7

o 40CH (176) 14.8 14.8 27.3 21.0 5.1 17.0
50CH (193) 17.1 17.6 176 233 8.8 15.5

60A| O|&f (281) 28.1 15.7 14.6 178 6.4 174

M= (174) 17.8 16.1 21.8 230 75 13.8

FA4 (56) 179 179 214 23.2 36 16.1

i+ 41) 19.5 12.2 31.7 12.2 49 19.5

byl (55) 218 16.4 27.3 10.9 9.1 14.5

a4 27) 259 74 259 259 0.0 14.8

CH 27 185 14.8 222 14.8 11.1 185

=4 (20) 25.0 10.0 15.0 10.0 15.0 25.0

= NS ©) 143 0.0 429 143 143 143
X% 87| (238) 22.7 155 176 172 76 193
PAy 27) 22.2 22.2 37 18.5 74 25.9

== (30) 233 133 20.0 16.7 6.7 20.0

=g (40) 25.0 75 20.0 175 25 275

MNE (33) 30.3 15.2 15.2 212 30 15.2

Pl (30) 233 133 20.0 26.7 10.0 6.7

45 (46) 21.7 109 10.9 217 6.5 283

4 (57) 193 22.8 15.8 193 35 193

NIES (12) 16.7 0.0 83 16.7 83 50.0

nsstn S | (184) 46 2.2 2.9 43 1.2 48

spay | O2Cist Y | (96) 30 14 18 18 0.7 1.6
T ohetm &Y (556) 12.0 9.1 12.7 116 42 10.8
CHet Ol (84) 17 2.2 2.1 1.1 0.7 14

Y AFE-22[E]] (363) 6.7 5.8 8.6 83 2.7 74

o et et (62) 1.3 1.1 1.2 0.9 0.8 1.5
MAL7 | 2R (94) 2.6 0.8 2.2 2.8 0.9 1.0
X (88) 2.6 14 2.1 13 0.8 14

xiof| SFH-1E 37) 0.7 0.8 1.0 0.8 04 04
TETRRSEION (40 10 12 0.8 0.7 0.1 0.7
CHSh(2l) A (32) 0.8 0.5 0.8 0.5 0.2 0.7
MAFH (139) 4.1 2.1 2.2 2.7 0.7 34
FEZE=H| (29) 0.7 0.7 0.2 0.5 0.1 1.0

Z[E} (36) 0.9 0.7 0.7 0.4 0.1 12
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1]
xgxoz T
HES

MESICHEL]  AFE 3l

-1

AgREd  Exgol

XH <O AN
o| A7}
2lojN

22 70 mYoL
o FoRl M
A MBI

20N

Akl

HH| 171) 35.7 333 316 70 10.5

o ofd (115) 35.7 339 330 70 96
= Sral (56) 35.7 32.1 286 7.1 125
20CH 33) 394 212 394 30 15.2

30CH (29) 379 345 24.1 103 34

o 40CH (30) 50.0 30.0 40.0 6.7 10.0
50CH (30) 20.0 46.7 36.7 6.7 133

60A| O|&f (49) 32.7 34.7 224 8.2 10.2

M= (24) 333 458 25.0 83 125

FA4 9) 333 0.0 333 0.0 333

= ) 375 50.0 125 0.0 25.0

byl (8) 50.0 375 12.5 0.0 25.0

o= %) 50.0 250 50.0 0.0 0.0

LR (5) 40.0 20.0 400 0.0 0.0

=4 (5) 60.0 40.0 20.0 20.0 0.0

= NS 1) 0.0 100.0 0.0 0.0 0.0
X% 87| (46) 239 283 457 43 6.5
PAy @ 429 429 0.0 0.0 14.3

=5 (6) 333 333 50.0 0.0 16.7

=g (11) 273 273 273 273 9.1

M= (5) 20.0 40.0 20.0 40.0 0.0

Pl ) 0.0 0.0 100.0 0.0 0.0

o= (13) 61.5 385 7.7 0.0 7.7

4 (11) 54.5 273 273 9.1 0.0

NIES (6) 333 50.0 66.7 16.7 16.7

nsstn EY | ) 6.4 10.5 76 29 2.3

say | D2l EY | (15) 2.3 47 3.5 0.6 0.0
S gsta 29| (99) 24.6 15.8 193 29 70
CHEH O] (13) 23 2.3 12 0.6 1.2
SY-ALR-22[ & (68) 117 14.0 135 2.9 4.1

A ME2 (14) 47 1.8 2.9 0.0 1.8
MALZ|= 2R (9) 1.8 1.8 2.3 18 0.0
X (13) 29 2.3 2.3 0.6 0.6

xiof| SFH-1E ) 06 0.6 06 0.0 1.2
T ETRES RGO ©) 06 18 12 0.0 06
CHah(R)d (6) 1.2 12 18 0.6 0.0
Mz (31 6.4 94 29 0.6 1.8
FEZE=H| 9) 2.9 0.0 18 06 0.0

7|E} (1) 29 0.6 23 0.0 0.6
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NE
ot
O
2
Fe

L FMYE F7|H AHE SEAL n= 749, TP E, %]

slojaf A OfEEet

ROl YR ugopin  swepl
= (] Al‘g'ol'ﬁ 24~ olo
wao]  maptEm Moo i
2 Zop SR || gk
7ts510iM 7hSst
HiZol2} Ct
ARgslzn

HA| (749) 68.8 449 2638 115 05
A o (345) 710 449 270 1222 0.9
°= g (404) 66.8 448 26.7 10.9 0.2
20CH 97) 59.8 402 309 124 1.0
30CH (111) 70.3 514 315 72 0.0
Ay 40cy (146) 719 452 29.5 96 0.7
50CH (163) 69.9 46.0 19.0 16.0 0.0
60A| Of4 (232) 69.0 427 26.7 11.2 0.9
M2 (150) 74.0 487 27.3 8.0 0.0
g4 47) 74.5 319 27.7 19.1 2.1
= (33) 66.7 515 303 6.1 0.0
k| 47) 59.6 489 319 234 2.1
o (23) 65.2 39.1 26.1 0.0 0.0
CHH (22) 72.7 31.8 136 136 0.0
=4 (15) 66.7 53.3 26.7 26.7 0.0
e NIE ©6) 833 16.7 16.7 00 16.7
x| S 37| (192) 734 443 276 12.0 0.5
zd (20) 60.0 50.0 25.0 0.0 0.0
5= (24) 333 62.5 16.7 12.5 0.0
s (29) 55.2 483 27.6 17.2 0.0
s (28) 57.1 50.0 143 10.7 0.0
FLf (28) 75.0 393 32.1 10.7 0.0
4= (33) 72.7 424 364 30 0.0
4 (46) 73.9 37.0 26.1 13.0 0.0
X (6) 16.7 50.0 16.7 16.7 0.0
nsstu EY | (140) 11.5 9.1 5.3 23 0.3
sio | OEOHSE S | (81) 6.8 36 3.1 13 0.0
T Oigd Y | (457) 443 27.5 16.0 72 0.3
CHet Ol 71 6.1 47 2.4 0.7 0.0
A AR Z2[E]] (295) 29.5 19.4 10.1 37 0.1
ju S e (48) 39 32 2.5 04 0.0
AL | 2Rl (85) 76 4.0 3.6 1.5 0.0
PN (75) 7.1 4.1 2.3 13 0.0
xjof| Sva-uA (33) 3.1 1.9 13 05 0.0
TR Rl (34) 25 19 07 11 0.0
CHeh(R) (26) 2.1 1.1 1.1 03 0.0
MATF (108) 10.0 6.1 47 19 03
F =] (20) 17 13 0.1 04 0.0
7|E} (25) 1.2 19 0.4 04 0.1
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[H9] AMUE HE 238 54 2 of @43E)

[Base : MXl, n= 1,000, T2 : E, %]

=0|
of=7{L}
Alopt

=3

£E0|Lt
2712} Zo|

HHHo=

0] x| i

s
° 88 R

HH| (1,000) 299 231 140 1.3 10.8
el o (505) 35.6 26.3 16.0 10.5 8.3
c= =d (495) 24.0 19.8 119 12.1 133
20CH] (144) 382 20.1 104 104 97
30CH (153) 346 229 15.0 13.1 10.5
Sl 40CH (188) 36.2 234 12.8 12.8 106
50CH (206) 27.2 29.1 155 11.2 97
60N Of& (309) 21.7 204 149 10.0 123
M2 (189) 339 254 15.3 10.1 11.1
24t (66) 24.2 25.8 18.2 6.1 106
CH* (46) 21.7 21.7 10.9 13.0 15.2
k) (59) 254 220 119 136 186
o= 27) 25.9 22.2 74 11.1 14.8
cHM (28) 25.0 286 10.7 14.3 7.1
=4t (20) 450 20.0 15.0 10.0 50
S NS @) 12.5 50.0 12,5 125 12,5
x| &7 (260) 31.2 19.2 15.0 131 10.8
A (30) 16.7 20.0 20.0 133 10.0
5= (31) 25.8 16.1 97 32 0.0
s 42) 333 23.8 143 143 95
HE (34) 412 324 8.8 147 2.9
Zail (34) 14.7 17.6 0.0 11.8 8.8
4= (50) 36.0 24.0 14.0 14.0 16.0
4 (63) 31.7 28.6 159 48 95
X= (13) 385 23.1 308 15.4 7.7
nsstu EY | (208) 49 48 3.2 2.8 2.5
sray | O2CHer 2 | (105) 36 24 14 12 1.0
S oistm =9 | (597) 187 14.3 8.1 6.6 6.4
CHet Ol (90) 2.7 16 13 0.7 09
Ol AFR 22| R!| (388) 12.8 76 5.7 35 43
G HZE (66) 2.5 15 10 10 0.4
MARZ = 222 (100) 23 3.1 17 13 1.5
A (98) 2.8 16 0.9 14 14
x| of SFeluA (40) 1.1 10 0.9 0.6 0.2
A gl 43) 14 1.1 0.6 05 0.4
CHeh(R) (35) 0.8 0.6 0.3 09 0.6
M5 (158) 40 48 2.2 17 1.3
F = (33) 14 0.9 0.4 0.1 0.3
7|E} (39) 0.8 0.9 0.3 03 0.4

A%
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NE
ot
O
2
Fe

HegEoz ol

Hal7 20| Zoj
B EX=]

@gem) 50| Mz

HHHo=
ARl M2

=01

HH| (1,000) 9.7 6.5 53 1.1 31.7

P ofd (505) 8.1 5.1 55 16 285
= = (495) 113 79 5.1 0.6 349
20CH (144) 11.1 9.0 5.6 0.7 22.2

30CH (153) 11.8 111 46 0.0 235

Ay 40CH (188) 16.0 10.1 3.7 0.0 223
50CH (206) 9.7 39 44 19 383

60A| O|&f (309) 42 26 7.1 19 414

M= (189) 13.8 9.0 6.3 0.0 249

4t (66) 9.1 9.1 76 15 318

= (46) 8.7 8.7 2.2 6.5 413

lbs) (59) 6.8 6.8 0.0 0.0 40.7

o= 27) 74 74 0.0 0.0 370

CH™ (28) 14.3 36 3.6 0.0 179

=4 (20) 25.0 0.0 100 0.0 15.0

= NES ®) 0.0 12.5 125 125 25.0
x| S 37| (260) 9.2 5.8 4.6 12 34.6
Ze (30) 10.0 6.7 0.0 0.0 30.0

5= (31) 32 0.0 6.5 0.0 54.8

= (42) 16.7 48 16.7 48 214

MNE (34) 88 11.8 8.8 29 324

Zall (34) 88 29 8.8 0.0 44.1

4= (50) 20 2.0 2.0 0.0 320

a4 (63) 6.3 79 32 0.0 254

XM= (13) 0.0 0.0 7.7 0.0 23.1

nsstn EY | (208) 19 0.8 2.2 04 6.3

sray | D2l EY | (105) 04 1.1 0.2 0.0 37
T Ofgta =Y (597) 6.1 36 24 0.7 18.8
CHahe ol (90) 13 10 0.5 0.0 2.9
SAU-ALR-22[ Al (388) 42 23 17 0.2 12.5

- HEA (66) 05 0.5 0.2 0.1 1.9
A [= 222 (100) 0.9 0.9 0.8 0.1 2.3
X (98) 1.0 0.9 0.8 0.1 3.5

xjof| STH-LA (40) 0.7 0.5 0.0 0.0 13
SRR E0 43) 03 02 02 00 11
CH=h(R)-d (35) 0.6 0.6 0.5 0.0 06
MosE (158) 1.1 0.5 0.9 04 5.8
F=H| (33) 04 0.0 0.1 0.0 1.0

7|Ef (39) 0.0 0.1 0.1 0.2 1.7
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Akl

HH| (683) 212 788

e ﬁ ﬁ (361) 20.5 79.5
= (322) 220 780

30CH (117) 239 76.1

o 40CH (146) 16.4 83.6
50CH (127) 18.1 819

60A| O|&f (181) 22.7 77.3

M= (142) 169 83.1

FA4 (45) 20.0 80.0

i+ 27) 14.8 85.2

byl (35) 25.7 74.3

2= (17 176 824

LR (23) 217 783

=1t A7) 35.3 64.7

b Ms 6) 16.7 833
X% 87| (170) 218 285
PAy 1) 19.0 81.0

=5 (14) 214 786

=g (33) 303 69.7

e (23) 304 69.6

Pl (19) 36.8 63.2

o= (34) 11.8 88.2

4 47) 19.1 80.9

XM= (10) 30.0 70.0

nsstun EEY | (145) 5.7 15.5

spay | O2Cist 2 | (68) 2.8 7.2
S chEtm Y | 409) 10.1 498
chstel ol& | (61) 26 6.3

AL ALR-22| Rl (263) 8.8 29.7

o et et 47 1.0 5.9
MALZ | = 2R (77) 2.8 85
X (63) 2.2 7.0

xjof| STH-LA 27) 0.9 3.1
TEITRSRY0 (32 09 38
CHah(R)d (29) 1.2 3.1
Mz (100) 2.0 126
FEZE=H| (23) 04 29

7|Ef (22) 10 2.2
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NE
ot
O
2
Fe

X
Azl
275 Ea] (;‘"
Al oLt Cy 3t 7| Et
HHE/2tE T
=, H AF
HETYE <
a3
A (683) 482 379 6.6 44 1.6 13
M ofd (361) 50.7 38.8 44 28 14 19
c= 2 (322) 453 370 9.0 6.2 19 0.6
20CH (112) 54.5 259 10.7 54 2.7 0.9
30CH (117) 59.0 24.8 6.0 6.8 26 0.9
ol 40CH (146) 445 384 7.5 6.8 2.1 0.7
50CH (127) 417 46.5 7.1 0.8 16 24
60A Ol & (181) 448 475 33 2.8 0.0 17
M= (142) 50.7 423 2.1 42 0.7 0.0
g4 (45) 46.7 37.8 6.7 44 0.0 44
= 27) 40.7 370 37 14.8 3.7 0.0
kS| (35) 429 34.3 114 29 0.0 8.6
a4 (17 529 294 118 59 0.0 0.0
CH (23) 435 435 43 8.7 0.0 0.0
=4t A7) 52.9 353 5.9 0.0 5.9 0.0
s NES 6) 333 50.0 16.7 0.0 0.0 0.0
x| 87| (170) 453 388 6.5 53 29 1.2
PAr 1) 429 333 19.0 0.0 48 0.0
=8 (14) 50.0 429 0.0 0.0 0.0 7.1
=g (33) 485 303 15.2 6.1 0.0 0.0
Nk (23) 478 34.8 87 0.0 43 43
ME (19) 474 36.8 53 10.5 0.0 0.0
45 (34) 61.8 294 59 0.0 29 0.0
a4 47 489 404 85 2.1 0.0 0.0
SIES (10) 70.0 30.0 0.0 0.0 0.0 0.0
nsstw EY | (145) 11.1 79 10 0.6 0.3 0.3
spay | J2CiE Y | (68) 48 3.2 1.0 04 0.1 0.3
| oistm 9| 409) 28.1 236 40 2.6 0.9 0.7
CHst® old | (61 4.1 32 0.6 0.7 03 0.0
A AR ZZ|E| (263) 19.5 13.8 2.2 1.9 0.6 0.6
AL ME2 47 35 2.5 0.6 0.0 0.1 0.1
MAL7 | 22X (77) 5.1 4.1 13 04 0.3 0.0
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